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1. (3) Circle the correct IUPAC names of compounds shown in the box (3 pts each):

1,2-diisopropylbutane 1 tert-butyl-2,2-dimethylpropane
(CH3);CCH,C(CH3); 1,2-di-tert-butylethane 2 44- tetramethyl?)d;‘lz?g\)
2,2,5,5-tetramethylhexane 1,1,1 4,4 4-hexamethylbutane

2. (3) Circle the structure of 2-isopropyl-1,1-dimethylcyclobutane:

3. (3) How many 1°,2° and 3° hydrogen atoms are present in the molecule shown in the box below (write
numbers after each question; 1 pt each answer):

* Number of 1° hydrogen atoms present in this molecule: é
* Number of 2° hydrogen atoms in this molecule: g
* Number of 3° hydrogen atoms in this molecule: é

4. (3) Circle the compound that has a kefone functional group and a triple bond in the parent chain:

2-butynal @ butenone  2-butenol 1,2-cyclobutendiol cyclobutantrione c/

N
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5. (4) Which of the following Newman projections represents 2,2-dimethylbutane? C,/»-/ = CH, 4
S I ¢
CHj, CH, cH, CHj CH,CHj A
H H H,C H H H H H H
H CH, H CH;, CH, H H H H
CH3 CH3 CH3 CH(CH3)2 CH3
{
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6. (6) Finish the drawing of the Newman projection of the gauche
conformation of normal pentane by placing appropriate substituents (H or
alkyl group) in the boxes (2 pts each box):

7. (3) Circle the structure showing the most stable conformation of cis-1,3-

dimethylcyclohexane:
CH,

R
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Overall Score;:




